Redox Reactions Worksheet

1. Examine which of the following are ‘redox’ reactions. Explain your choice.

a. 2C,H, (g) + 50, (g) — 4CO, (g) + 2H,0 (g)

b. Cu (s) + Cl,(g) — CuCl,(s)

c. CuO(s) + H,S0,(I) — CuSO,(aq) + H,0O(I)

c. MnO, (s) + 4HCl (aq) — MnCl, (aq) + 2H,0 (I) + Cl, (aq)

e. NaOH (aq) + HNO, (aq) — NaNO, (aq) + H,O (I)

2. Determine which reactant is oxidized and which is reduced in each reaction.

a. 25r + O,— 2510

b. 2Li +S5— Li,S

c. 2Cs + Br, »2CsBr

d. 3Mg + N, ->Mg,N,

e. 4Fe + 30, —2Fe20,

f. Cl, + 2NaBr —2NaCl + Br,

e. Si + 2F, -SiF,

f. Mg+ 2HCl »MgCl, + H,



Redox Reactions Worksheet

Answers

| 2C,H, (g) + 50, (8) — 4CO, (g) + 2H,0 (g)

Redox reaction. O reduces to O% and C oxidizes to C**.

. Cu (s) + Cl,(g) — CuCl,(s)

Redox reaction. Cu oxidizes to Cu?*, and CI reduces to CI'.

. CuO(s) + H,SO,(I) — CuSO,(aq) + H,0O(I)
Not a redox reaction, as the oxidation numbers remain the same in both the
reactants and the products.

. MnO, (s) +4HCI (aq) — MnCl, (aq) + 2H,O (1) + Cl, (aq)

Redox reaction. O reduces to O%, and Cl- oxidizes to Cl

. NaOH (aq) + HNO, (aq) — NaNO, (aq) + H,O (I)
Not a redox reaction, as the oxidation numbers remain the same in both the
reactants and the products.

. 25r+0O,— 2510 Srto Sr**; O to O

. 2Li+S—LiS LitoLi+;StoS*

. 2Cs + Br2 —2CsBr Cs to Cs+; Br to Br-

.3Mg +N, -»Mg,N, Mg to Mg*"; N to N>

. 4Fe + 30, —2Fe20, Feto Fe *0to O

) Cl2 + 2NaBr —2NaCl + Br, Cl to CI"; Br' to Br
. Si+2F, —>SiF, SitoSi*'; F to F1°

. Mg +2HCl »MgCL +H, MgtoMg*; H' toH
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